

"Construction Solutions for the Future"

## **COMPLETE LISTING OF CONSTRUCTION PROJECTS**

ABC METALS, INC.	Logansport, IN	• warehouse addition 60' x 200' (12,000 sf)
ACE HARDWARE	Lafayette, IN	• retail and 14,616 sf garden center facility 116' x 136' (16,116 sf retail)
ADKEV, INC.	Goodland, IN	<ul> <li>office/two-story production/warehouse 215' x 200' plus mezzanine (53,000 sf)</li> <li>production facility 215' x 200' plus mezzanine (47,500 sf)</li> <li>warehouse expansion 60' x 150' (9,000 sf)</li> <li>warehouse addition 40' x 150' (6,000 sf)</li> <li>production addition 275' x 454' and 60' x 150' (21,375 sf)</li> <li>production/warehouse reroof 200' x 418' (83,600 sf)</li> <li>production addition 166' x 60' (9,960 sf)</li> </ul>
AG ALUMNI	Romney, IN	<ul> <li>46' x 60' Warehouse (2760 sf)</li> <li>40' x 60' warehouse addition (2,400 sf)</li> </ul>
AGRA INDUSTRIES, INC.	Remington, IN	Remington Seeds Concrete
ALL SAINTS CATHOLIC CHURCH	Logansport, IN	• concrete scope for addition (15,000 sf)
APOLLO DISPOSAL SERVICES	Momence, IL	• recycling center (concrete and erection) 70' x 74' (5,180 sf)
BAILEY'S DISCOUNT CENTER	North Judson, IN	<ul> <li>discount retail facility 70'x200' and 300'x570' (185,000 sf)</li> <li>Dairy Queen Treat Shop 30' x 84' (2,520 sf)</li> </ul>
BANK OF WOLCOTT	Wolcott, IN	<ul> <li>office addition and new architectural roof 90' x 95' (8,300 sf)</li> <li>Remington Branch Bank facility (2,600 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 2 of 22

BANK ONE – RENSSELAER	Rensselaer, IN	<ul> <li>offices and lobby remodel (9,500 sf)</li> <li>remodel interior offices (1,100 sf)</li> <li>remodel interior offices and add Readmore bldg. interior/exterior (8,900 sf)</li> </ul>
BELSTRA MILLING	Demotte, IN	• warehouse addition 116'x 99' (11,500 sf)
BIOANALYTICAL SYSTEMS INC.	West Lafayette, IN	Lab Remodel /Dock Addition
BOB ROHRMAN	Lafayette, IN	• car dealership carpentry (65,000 sf)
BOS DAIRY FARMS	Fair Oaks, IN	<ul> <li>two (2) dairy milk production facilities (steel and erection) nine (9) buildings plus (834,000 sf total)</li> <li>dairy parlors two (2) 94' x 364' (34,404 sf each)</li> <li>free-stall facilities four (4) 104' x 1,403' (145,912 sf each)</li> <li>dry cow and vet facilities two (2) 120' x 578' (69,360 sf each)</li> <li>feed commodities facility 100' x 125' (12,500 sf)</li> </ul>
BRAND HEATING AND A.C.	Dayton, IN	<ul> <li>two-story offices and staging 50' x 100' (6,800 sf)</li> <li>re-skin and insulate existing warehouse 50' x 102' (5,100 sf)</li> </ul>
BRAUNABILITY	Winamac, IN	<ul> <li>corporate headquarters and manufacturing 75' x 130' (9,750 sf)</li> <li>production expansion, plant III 200' x 450' (90,000 sf)</li> <li>production expansion, plant III 200' x 200' (40,000 sf)</li> <li>engineering/prototype/vehicle addition 70' x 80' and 60' x 52' (14,720 sf)</li> <li>office expansion and EIFS/windows, plant IV 45' x 155' (6,975 sf)</li> <li>corporate jet hangar, 70' x 75' (5,250 sf)</li> <li>battery building expansion 105' x 37' (3,885 sf)</li> </ul>
BRENNECO, INC.	Lafayette, IN	• office and shop facility (erection) 162' x 127' (32,214 sf)
BURGER KING	Rensselaer, IN	<ul> <li>170-seat restaurant w/ indoor playground, (4,427 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 3 of 22

CARGILL, INC.	Monon, IN	• chemicals warehouse 30' x 40' (1,200 sf)
CASTONGIA'S JOHN DEERE	Rensselaer, IN	• office, parts, showroom remodel and addition (12,826 sf)
CHIEF INDUSTRIES, INC.	Rensselaer, IN	<ul> <li>production addition 60' x 620' (37,200 sf)</li> <li>production /office addition 70'x700' and 50' x 120' (56,000 sf)</li> </ul>
CINTAS CORPORATION	Frankfort, IN	<ul> <li>office, production, and warehouse facility 208' x 234' and 52' x 150' (54,500 sf)</li> <li>outdoor break canopy 19' x 26' (494 sf)</li> </ul>
CIRCLE "R" SALES, INC.	Monon, IN	• offices and production 40' x 62' (2,228 sf)
CLINIC OF FAMILY MEDICINE	Rensselaer, IN	<ul><li>interior two-story remodel (1,080 sf)</li><li>office rental facility remodel</li></ul>
COLE HARDWOOD	Logansport, IN	<ul> <li>wood drying canopy 22' x 662' (14,564 sf)</li> <li>wood drying canopy 22' x 662' (14,564 sf)</li> <li>boiler building fire- rebuild 40' x 42' (1,680 sf)</li> <li>wood drying canopy 22' x 662' (14,564 sf)</li> <li>fire rebuild for production, offices, retail 330' x 400' (128,500 sf)</li> <li>5<sup>th</sup> and 6<sup>th</sup> canopies 22' x 662' each (29,128 sf)</li> <li>wood drying canopy 22' x 662' (14,564 sf)</li> </ul>
COMMUNITY CHRISTIAN REFORMED CHURCH	DeMotte, IN	<ul> <li>sanctuary and classroom addition 135' x 101' (13,635 sf)</li> </ul>
COMMUNITY STATE BANK	Brook, IN	• Bank addition & Remodel (6,200 sf)
CON AGRA	Rensselaer, IN	<ul> <li>packaging facility (concrete and erection) Hunt Wesson (58,620 sf)</li> <li>facility addition (concrete and erection) Hunt Wesson (40,657 sf)</li> <li>production additions and renovations 100' x 100', 76' x 140', and 25' x 61' (22,165 sf)</li> <li>production addition 50' x 100' (5,000 sf)</li> <li>production addition 100' x 300' (30,000 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 4 of 22

CON AGRA (Cont'd)		<ul> <li>parking lot expansion 65' x 230' (14,950 sf)</li> <li>maintenance shop addition</li> <li>salt room addition/remodel</li> </ul>
CONESTOGA-ROVERS & ASSOC.	Kalamazoo, MI	<ul> <li>Attica water treatment plant (2,000 sf)</li> <li>Air Sparge System building (500 sf)</li> </ul>
COOK GROUP INC.	West Lafayette, IN	• MRI Installation and Remodel
COOPER TIRE SERVICES, INC.	Rensselaer, IN	<ul> <li>tire/maintenance facility with offices 100' x 90' (10,223 sf)</li> <li>tire and auto repair facility 65' x 67' (4,355 sf)</li> </ul>
COPPER MOON COFFEES	Lafayette, IN	<ul> <li>production and office remodel 167' x 177' (29,559 sf)</li> <li>warehouse addition 137'x167' (22,879 sf)</li> <li>136' x 175' south warehouse (23,931 sf)</li> <li>100' x 115' Green Storage addition (11,500 sf)</li> <li>south warehouse addition 290' x 200' (58,000 sf)</li> </ul>
CPL SYSTEMS	Brook, IN	• methane compression building 57'x100' (5,700 sf)
DAIRYLAND SEED RESEARCH	Otterbein, IN	<ul> <li>workroom/lab remodel</li> <li>60'x120' maintenance shop (7,200 sf)</li> </ul>
DAVIS WATER CONDITIONING	Rensselaer, IN	• warehouse and retail 60' x 87' (5,220 sf)
DEMOTTE FIRST CHURCH OF THE NAZARENE	DeMotte, IN	<ul> <li>sanctuary, classroom and office facility 45' x 109' (4,905 sf)</li> </ul>
DEMOTTE STATE BANK	Rensselaer, IN	<ul> <li>new branch bank facility</li> <li>50' x 66' with canopy (4,511 sf)</li> </ul>
DONALDSON COMPANY, INC.	Rensselaer, IN	<ul> <li>warehouse and office (erection) 397' x 528' and 67' x 120' (217,629 sf)</li> <li>warehouse expansion (concrete and erection) (180,640 sf)</li> <li>warehouse &amp; office expansion 532' x 398' and 63' x 67' (215,395 sf)</li> </ul>
DOW AGROSCIENCES	Fowler, IN	<ul> <li>Mycogen Seed Research Lab remodel</li> <li>warehouse addition 60' x 100' (6,000 sf)</li> </ul>
DUPONT	Remington, IN	<ul> <li>maintenance building 65' x 48' (3,120 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 5 of 22

DWYER INSTRUMENTS, INC.	Wolcott, IN	<ul> <li>manufacturing and warehouse facility 160' x 224' (34,840 sf)</li> </ul>
DYE LUMBER COMPANY	Monticello, IN	<ul> <li>structure, insulation and pitched retro-fit steel roof, 100' x 120' and 70' x 148' (22,360 sf)</li> </ul>
EASTERN ILLINOIS CLAY CO.	St. Anne, IL	<ul> <li>production addition 115' x 50' (5,750 sf)</li> </ul>
EASTON TECHNICAL PRODUCTS	Monticello, IN	<ul> <li>office/assembly/warehouse 150' x 120' (18,000 sf)</li> <li>fletching/warehousing facility 40' x 150' (6,000 sf)</li> <li>warehouse addition 100' x 80' (8,000 sf)</li> <li>warehouse addition 100' x 40' (4,000 sf)</li> <li>dock addition 25' x 48' (1,200 sf)</li> </ul>
EDWARD J. FUNK and SONS	Kentland, IN	<ul> <li>warehouse 75' x 140' (10,500 sf)</li> <li>warehouse and seed corn refrigeration 100' x 140' (14,000 sf)</li> </ul>
EDWARDS-RIGDON CONSTRUCTION COMPANY	Lafayette, IN	<ul> <li>101 Main Street Development Concrete/Steel Erection (196,876 sf)</li> <li>Wabash River Promenade Concrete for elevated walkway</li> </ul>
EGGLIFE FOODS, INC.	Wolcott, IN	<ul> <li>Egglife production remodel 200'x 300' (60,000 sf)</li> <li>Egglife dry storage cooler 48' x 86' (4,128 sf)</li> <li>Egglife R &amp; D Room 31' x 24' (744 sf)</li> <li>Egglife tortilla line #1 300' x 50' (15,000 sf)</li> <li>Egglife tortilla line #2</li> </ul>
ELCO INDUSTRIES	Logansport, IN	<ul> <li>coating facility addition 200' x 40' (8,000 sf)</li> <li>furnace structure, make-up air and utilities for process equipment</li> <li>plating/manufacturing addition 150' x 160' (24,000 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 6 of 22

ELI LILLY	Lafayette, IN	<ul> <li>T133-2 breakroom remodel</li> <li>computer training room remodel</li> <li>south parking lot expansion &amp; retention facility 175'x380' (66,500 sf)</li> <li>T126 training room remodel</li> <li>Instrument Shop remodel</li> <li>softener building addition 31' x 15' (465 sf)</li> </ul>
EMERY	Boswell, IN	<ul> <li>two-story storage facility 30' x 60' (2,700 sf)</li> </ul>
ESSROC, INC.	Logansport, IN	• canopy addition 70' x 45' (3,375 sf)
ETHAN ALLEN	Kentland, IN	<ul> <li>remodel interior docks into production (3,960 sf)</li> <li>site and mezzanine modifications for additional north docks 40' x 130' (5,200 sf)</li> </ul>
FAIRFIELD MANUFACTURING	Lafayette, IN	<ul> <li>facility connecting corridor 10' x 30' (300 sf)</li> </ul>
FAITH CHURCH	Lafayette, IN	<ul> <li>Faith Christian School classroom addition 2-story 76' x 105' plus (20,300 sf)</li> <li>880-seat auditorium HVAC renovation 80' x 104' (8,000 sf)</li> <li>sitework development project (35 acres)</li> <li>Faith East Community Center 2-story (70,058 sf)</li> <li>Faith West Community Center and student housing (90,242 sf)</li> <li>Faith Senior Housing Development sitework</li> <li>Northend Community Center (95,000 sf)</li> <li>Faith Christian School classroom addition 2-story (8,427 sf)</li> <li>Faith East Community Center Pool Remodel</li> <li>Restoration woodshop 72' x 152' (10,950 sf)</li> </ul>
FIREWORKS SUPERMARKET	Rensselaer, IN	<ul> <li>commercial store and warehouse 60' x 150' (9,000 sf)</li> <li>warehouse 60' x 174' (10,440 sf)</li> <li>offices and storage mezzanine (1,260 sf)</li> </ul>
FIRST BAPTIST CHURCH	Francesville, IN	• foyer and drive up canopy addition

FRANCESVILLE DRAIN TILE CO.	Francesville, IN	<ul> <li>production facility additions 72' x 175' and 84' x 80' (19,320 sf)</li> <li>warehouse/dock conversion &amp; add'tl docks 70' x 110' &amp; 23' x 50' (8,850 sf)</li> <li>corporate offices 52' x 68' plus (4,512 sf)</li> <li>production addition 72' x 56' (4,032 sf)</li> </ul>
FRANK GORSKI	Monticello, IN	• warehouse facility 70' x 150' (10,500 sf)
FRITO LAY	Frankfort, IN	<ul> <li>east plant shipping office</li> <li>ADA upgrades</li> <li>cafeteria remodel</li> <li>truck service center 85' x 140' (11,900 sf)</li> <li>east plant transformation project</li> <li>truck repair building fire damage repairs</li> <li>traffic center 2<sup>nd</sup> floor remodel</li> </ul>
GALBREATH INC.	Winamac, IN	<ul> <li>production canopy/warehouse 64' x 190' (12,160 sf)</li> </ul>
GALFAB, INC.	Winamac, IN	• rebuild fire damaged building (70,000 sf)
GARST SEEDS	Kentland, IN	• warehouse (erection) 80' x 100' (8,000 sf)
GENERAL EQUITIES	Hebron, IN	<ul> <li>lease facility 50' x 100' (5,000 sf)</li> </ul>
GENOVA	Rensselaer, IN	• warehouse pipe addition 101' x 220' (22,220 sf)
GENUINE MACHINE DESIGN	Rensselaer, IN	• production addition (2,527 sf)
GIRTZ INDUSTRIES	Monticello, IN	<ul> <li>offices and production 90' x 140' (12,600 sf)</li> <li>production addition 90' x 100' (9,000 sf)</li> <li>manufacturing and powder coat facility 90' x 125' (11,250 sf)</li> <li>production addition 80' x 100' (8,000 sf)</li> <li>production addition 80' x 225' (18,000 sf)</li> <li>production addition 40' x 90' (3,600 sf)</li> <li>storage facility 60' x 80' (4,800 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 8 of 22

8		
GIRTZ INDUSTRIES (Cont'd)		<ul> <li>production addition 80' x 115' (9,200 sf)</li> <li>east crane building 130' x 120' (15,600 sf)</li> <li>engineering offices remodel (6,500 sf)</li> </ul>
GORDON FOOD SERVICE	Lafayette, IN	• retail store (site concrete, foundations and erection) 104' x 141' (14,136 sf)
GRACE LUTHERAN CHURCH	Lafayette, IN	<ul> <li>sanctuary (concrete foundation and floor) 80' x 128' (9,551 sf)</li> </ul>
GRANDMA'S HOME COOKIN'	Rensselaer, IN	<ul> <li>restaurant and truck fueling facility 127' x 32' (4,064 sf)</li> <li>waste treatment facility 24' x 40' (960 sf)</li> </ul>
GREAT LAKES CHEMICAL CORP.	West Lafayette, IN	• office facility remodel and new labs (13,400 sf)
GREAT LAKES WAREHOUSE CORP.	Calumet City, IL	• warehouse rebuild 75'x120' (9,000 sf)
GUTWEIN POPCORN	Francesville, IN	<ul> <li>popcorn production facility remodel and expansion (23,800 sf)</li> <li>packaging and warehouse addition 90' x 125' (11,650 sf)</li> </ul>
GUTWEIN SEED COMPANY	Francesville, IN	<ul> <li>re-roof and re-skin walls 80' x 200' (16,000 sf)</li> <li>maintenance and shop facility 80' x 100' (8,000 sf)</li> </ul>
HAGER LUMBER COMPANY	Cedar Lake, IN	• warehouse, shop, and office 200' x 300' (60,000 sf)
HARDEBECK TRUCKING	Monticello, IN	• warehouse and office 300' x 334' (101,100 sf)
HARRISON STEEL	Attica, IN	<ul> <li>tank storage building 23' x 65' (1,495 sf)</li> <li>steel processing building with 30-ton cranes 120' x 225' (27,000 sf)</li> <li>casting warehouse 144' x 72' (10,368 sf)</li> </ul>
HERITAGE CHRISTIAN	Dyer, IN	<ul> <li>school addition concrete &amp; steel scope 50'x177' (8,850 sf)</li> </ul>
HERREMA DAIRY FARM	Fair Oaks, IN	• dry cow facility (erection) 112'/126' x 775' (91,400 sf)

Complete Project Listing Titan Construction & Engineering Services Page 9 of 22

HICKSGAS, INC.	Roselawn, IN	•	office and service facility 60' x 80' and 24' x 24' (5,376 sf)
HIDDEN VIEW DAIRY	Rensselaer, IN	•	hay barn storage building 100' x 275' (27,500 sf)
HILLCREST FAMILY DENTAL	Rensselaer, IN	•	clinic addition (4,500 sf) and renovation (3,180 sf)
HIVELY WELDING	Medaryville, IN	•	production facility (concrete and erection) 52' x 114' (5,928 sf)
HOOSIER RUBBER & TRANSMISSION	Lafayette, IN	•	warehouse and offices 60' x 200' (12,000 sf)
HOWARD AND SONS, INC.	Monticello, IN	•	offices and parts room 63' x 110' (6,930 sf)
INDIAN CREEK FARM	West Lafayette, IN	•	horse riding arena, office and stalls 60' x 125' plus (8,700 sf)
INDIANA DIMENSION, INC.	Logansport, IN	•	manufacturing addition 71,788 sf project total
INDIANA FEDERAL SAVINGS	Rensselaer, IN	•	five car drive-up canopy and complete interior/exterior remodel (4,300 sf)
INDIANA RIBBON	Wolcott, IN	•	warehouse addition 170' x 125' (21,250 sf) warehouse addition 51' x 254' plus (14,600 sf) warehouse and docks 105' x 212' (22,260 sf)
INDUSTRIAL CAB COMPANY	Flora, IN	•	manufacturing addition 60' x 100' (6,000 sf)
INIG PROCESS PLANT	Brook, IN	•	production and office maintenance facility 280' x 400' (112,000 sf)
INOK INVESTMENT, LLC	Lafayette, IN	• • • •	exterior architectural renovation of Duncan Innovation Center 17' x 582' (9,894 sf) Golden Streams addition 188' x 291' and 86' x 72' (61,050 sf) 2-story precast office building (40,000 sf) Haggerty Phase II warehouse site/concrete 150' x 300' (45,000 sf) precast office building 180' x 78' (13,000 sf) precast office addition 100' x 140' (14,000 sf)

Complete Project Listing Titan Construction & Engineering Services Page 10 of 22

<b>INOK INVESTMENTS, LLC</b> (Cont'd)		<ul> <li>Little Star facility 75' x 240' (18,000 sf)</li> <li>Haggerty Point Four 175' x 1000' (175,000 sf)</li> </ul>
INTEPLAST	Remington, IN	<ul><li>Line 1 &amp; 2 power feed wiring</li><li>Exterior foundations and shed</li></ul>
I.P. CALLISON	Knox, IN	<ul> <li>warehouse addition 50' x 200' (10,000 sf)</li> <li>warehouse addition 85' x 200' (17,000 sf)</li> </ul>
IROQUOIS BIO-ENERGY COMPANY	Rensselaer, IN	<ul> <li>construction management/engineering for 40,000,000 gallon ethanol facility</li> <li>construction of DDG facility 125' x 225' (28,125 sf)</li> <li>Construction of transfer building 65' x 93' (6,045 sf)</li> <li>Storage tank building 24' x 60' (1,440 sf)</li> <li>105' dia. corn storage bin (775,000 Bu)</li> <li>Pursuit Dynamic process building 10' x 12' x 45' (120 sf)</li> <li>70' fermenter tank foundation</li> </ul>
J.W. HICKS	Knox, IN	<ul> <li>production and office (concrete and erection, 60' x 260' and 34' x 62' (17,708 sf)</li> <li>warehouse addition <ol> <li>120' x 250' and 75' x 60' and 30' x 25'</li> <li>(35,250 sf)</li> </ol> </li> <li>precast (112,000sf) &amp; recycle (15,000 sf) projects concrete</li></ul>
JASPER COUNTY DISTRIBUTORS	Rensselaer, IN	<ul> <li>load-out and warehouse 37' x 80' (2,960 sf)</li> <li>refrigerate warehouse and construct garage 40' x 112' (4,480 sf)</li> <li>reroof warehouse and refrigerate portion 60' x 140' (8,400 sf)</li> </ul>
JASPER COUNTY HEALTH DEPT	Rensselaer, IN	• office remodel (4,300 sf)
JASPER COUNTY HOSPITAL	Rensselaer, IN	<ul> <li>obstetrical unit renovation (6,300 sf)</li> <li>office building 65' x 111' (7,215 sf)</li> </ul>
JORDAN MANUFACTURING	Monticello, IN	<ul> <li>west warehouse addition (40,500 sf)</li> <li>west warehouse addition 150' x 350' (52,500 sf)</li> <li>mezzanine 62'3" x 89'6" (5,550 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 11 of 22

JSI STEEL	Winamac, IN	<ul> <li>production &amp; warehouse additions 180'x 240' and 60'x 75' (40,500 sf)</li> </ul>
KDS FARMS	Fowler, IN	• Agricultural shop 80'x110'x20'
KEWANNA METAL SPECIALTIES	Kewanna, IN	<ul> <li>manufacturing facility 80' x 150' (12,000 sf)</li> <li>manufacturing facility addition 25' x 80' (2,000 sf)</li> <li>warehouse and docks 100' x 98' (9,800 sf)</li> <li>Fire rebuild 173'6" x 80' (13,880 sf)</li> </ul>
KNOX FERTILIZER	Knox, IN	<ul> <li>cold storage warehouse 120' x 200' (24,000 sf)</li> <li>south production tower 16' x 42' x 48' tall (672 sf)</li> <li>production/bagging facility 46' x 83' (3,800 sf)</li> <li>Georgia Realty warehouse I 180' x 150' (27,000 sf)</li> <li>north production tower 24'x42'x48' tall (1,008 sf)</li> <li>Georgia Realty warehouse II 180' x 150' (27,000 sf)</li> <li>Production/warehouse addition 125' x 85' (10,625 sf)</li> <li>Georgia Realty warehouse III 180' x 300' (54,000 sf)</li> </ul>
LAFAYETTE BANK & TRUST CO.	Rensselaer, IN	<ul> <li>drive-up facility renovation - Rensselaer 18' x 40' and 25' x 50' (1,970 sf)</li> <li>interior remodel and finishes - Remington</li> </ul>
LAFAYETTE CHRISTIAN SCHOOL	Lafayette, IN	• concrete and steel scopes for 2-story school addition (27,000 sf)
LAFAYETTE PHARMACEUTICAL	Lafayette, IN	• warehouse addition and architectural dress 170' x 173' (29,410 sf)
LAFAYETTE STEEL SALES	Lafayette, IN	<ul> <li>heavy crane warehouse and office addition 180' x 231' (42,850 sf)</li> <li>office facility 60' x 40' (2,400 sf)</li> <li>2<sup>nd</sup> floor of office facility 60' x 40' (2,400 sf)</li> <li>truck maintenance facility 80' x 130' (110,400 sf)</li> <li>warehouse addition 180' x 325' (58,500 sf)</li> </ul>

LAFAYETTE VENETIAN BLIND	West Lafayette, IN	<ul> <li>production (175,330 sf) and offices (44,880 sf) 393' x 400', 150' x 183', 150' x 153' (220,210 sf total)</li> <li>rebuild tornado-damaged production and offices (135,000 sf)</li> <li>storage building 40' x 100' (4,000 sf)</li> <li>wood shutter production addition 150' x 91' (13,650 sf)</li> <li>main building addition 120'x400' (48,000 sf)</li> </ul>
LAMBERT CONSTRUCTION	Bourbonnais, IL	• addition sheeting labor 160' x 212' (33,920 sf)
LANDIS PLASTICS, INC.	Monticello, IN Richmond, IN	<ul> <li>plant addition 75' x 200' and 30' x 50' (16,500 sf)</li> <li>plant addition 75' x 200' (15,000 sf)</li> <li>plant addition 125' x 200' (25,000 sf)</li> <li>warehouse addition 150' x 200' (30,000 sf)</li> <li>production expansion/remodel (10,000 sf)</li> <li>inventory shop 30' x 137' (4,110 sf)</li> <li>mold maintenance shop 50' x 126' (6,300 sf)</li> <li>offices and miscellaneous. plant rework</li> <li>warehouse addition 100'/180' x 360' (54,982 sf)</li> <li>add to, and increase capacity of, production crane system during production</li> <li>production and office facility – Richmond 300' x 350' plus (121,160 sf)</li> <li>office addition 31' x 42' (1,302 sf)</li> <li>production remodel – Richmond (18,000 sf)</li> <li>warehouse addition - Richmond 300' x 125' (37,500 sf)</li> <li>crane upgrade 750-ton Husky Press</li> </ul>
LEGACY FARMS	Fair Oaks, IN	• Fair Oaks Pig Adventure swine confinement buildings and visitor center (114,210 sf)
LOWELL FIRE STATION	Lowell, IN	• fire station 70' x 186' (13,020 sf)
MACALLISTER MACHINERY	Rensselaer, IN	<ul> <li>service/parts center remodel</li> <li>new parts/service facility 100'x120' (12,000 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 13 of 22

MBAH INSURANCE CO.	Lafayette, IN	• 9,140 sf office addition and 8,750 sf remodel
MCGILL PRECISION BEARING	Monticello, IN	• process water system, upgrade and remodel
MILLER/BYRD	Frankfort, IN	• warehouse 120'x200' (24,000 sf)
MONON CORPORATION	Monon, IN	<ul> <li>disassembling steel building 100' x 120' (12,000 sf)</li> <li>trailer finishing 120' x 100' (12,000 sf)</li> <li>aluminum rail storage 70' x 200' (14,000 sf)</li> <li>air compressor room 25' x 40' (1,000 sf)</li> <li>post-paint finish building 70' x 66' (4,620 sf)</li> </ul>
MONON MEAT PACKING	Monon, IN	• existing facility enclosure 50' x 70' (3,500 sf)
MONON RAILROAD MUSEUM	Monon, IN	<ul> <li>museum expansion 50'x100' (5,000 sf)</li> <li>restaurant expansion (2,864 sf)</li> <li>museum expansion 33'x 110' (3,630 sf)</li> </ul>
MONSANTO (DEKALB SEED)	Remington, IN	<ul> <li>parking lot and sanitary system upgrades</li> <li>bulk storage building foundation 88' x 118' (10,384 sf)</li> <li>bulk storage building sheeting 88' x 118' x 100' tall (10,384 sf)</li> <li>seed warehouse erection 103,750 sf in total facilities</li> <li>sheller/chopper addition concrete</li> <li>packaging building addition 62' x 86' (5,332 sf)</li> <li>conditioning tower re-sheet 56' x 100' x 93' tall (5,600 sf)</li> </ul>
MONTICELLO SPRING CORP.	Monticello, IN	• office addition 34' x 63' (2,142 sf)
MPI - IN FINEBLANKING	Knox, IN	• production addition (concrete) 310' x 120' (37,200 sf)
MRP, INC.	Monticello, IN	• office and production remodel 121' x 69' (8,349 sf)
NORTHWAY PRODUCTS	Rensselaer, IN	• construction supervision of warehouse 200' x 200' (40,000 sf)

Complete Project Listing Titan Construction & Engineering Services Page 14 of 22

NORTON PACKAGING, INC.	Hamlet, IN	<ul> <li>production and office facility 150' x 135' and 24' x 50' (21,450 sf)</li> <li>phase II warehouse and office addition 150' x 135' and 24' x 50' (21,450 sf)</li> <li>phase III warehouse and office addition 145' x 275' and 14' x 84' (41,051 sf)</li> </ul>
OLD NATIONAL BANK	Lafayette, IN	<ul> <li>new branch bank and drive-up 5,984 sf with canopy</li> <li>new branch bank and drive-up 5,840 sf with canopy</li> <li>Williamsport branch remodel</li> </ul>
OMNI FORGE, INC.	Remington, IN	<ul> <li>steel skin and liner for office and manufacturing (36,000 sf)</li> <li>warehouse addition 40' x 118' (4,720 sf)</li> <li>production and office additions 100' x 240' and 94' x 90' (33,660 sf)</li> <li>utility building 25' x 48' (1,200 sf)</li> <li>east production expansion 100' x 50' (5,000 sf)</li> <li>production/Q.C. plant offices 26' x 27' two-story (1,400 sf)</li> </ul>
OPEN DOOR FELLOWSHIP CHURCH	Kouts, IN	• sanctuary addition carpentry (5,800 sf)
<b>O'REILLY AUTO PARTS</b>	Monticello, IN	• retail facility 85' x 85' (7,225 sf)
PARADIGM DEVELOPMENT	West Lafayette, IN	<ul> <li>retail and apartments (concrete)</li> <li>53' x 191' multi-story (23,000 sf)</li> </ul>
PARAGON INTERIORS	Winamac, IN	• office and production (concrete and erection) 80' x 100' (8,000 sf)
PARKER HANNIFIN	Goodland, IN	<ul> <li>enclose existing canopy and sitework (2,100 sf)</li> <li>add canopy structure and roof (2,100 sf)</li> <li>office addition and remodel 67' x 40' (5,880 sf)</li> </ul>
PARKS FOR PEOPLE, INC.	Rensselaer, IN	<ul> <li>construction management services for 3-diamond baseball field project</li> </ul>
PEOPLES STATE BANK	Francesville, IN	<ul> <li>remodel interior offices and add drive-up Francesville (4,200 sf)</li> <li>complete remodel and add drive-ups – Winamac, 51' x 63' (3,213 sf)</li> </ul>

—

Complete Project Listing Titan Construction & Engineering Services Page 15 of 22

ε		
PEOPLES STATE BANK (Cont'd)		<ul> <li>offices and drive-up - Rensselaer 60' x 50' (3,000 sf)</li> <li>remodel two-story offices - Francesville 30' x 55' (3, 300 sf)</li> <li>3-story office addition and garage – Francesville, 32' x 54' and 31' x 35' (6,269 sf)</li> </ul>
PERFORMANCE MASTER, L.L.C.	Crawfordsville, IN	<ul> <li>production and office facilities 80' x 500' and 30' x 150' (44,500 sf)</li> </ul>
PETERS-REVINGTON	Delphi, IN	<ul> <li>warehouse expansion 180' x 100' (18,000 sf)</li> <li>two-story office addition 40' x 30' (2,400 sf)</li> </ul>
PIONEER HI-BRED INTL.	Flora, IN	• warehouse and tilt-up firewall 100' x 101' (10,100 sf)
PLYMOUTH TUBE COMPANY	Winamac, IN	<ul> <li>warehouse addition 80' x 200' (16,000 sf)</li> <li>cold draw and shipping 80' x 684' (54,720 sf)</li> <li>hot mill production facility 160' x 478' (76,480 sf)</li> <li>hot mill production addition 50' x 160' (8,000 sf)</li> <li>two 90' truss headers between two 80' span buildings and four 7-1/2 ton cranes</li> <li>weldmill offices 40' x 40' (1,600 sf)</li> <li>hot mill finish – 100' x 528' hot mill pickling – 100' x 278' plus weldmill addition – 106' x 780' (total project 168,350 sf)</li> <li>cold draw boiler room addition 30'x 20' (600 sf)</li> <li>WSP quench &amp; temper line installation</li> <li>WSP office/production remodel</li> </ul>
PRATT INDUSTRIES	Valparaiso, IN	• Jet Corr production and warehouse addition (steel) 221' x 350' and 294' x 200' (135,975 sf)
PREFERRED WINDOW & DOOR	Lynwood, IL	• office addition & warehouse remodel (18,900 sf)
PRESIDIO GROUP	Rensselaer, IN	• Warehouse remodel 125,000 sf facility total
R & R HORSE HAVEN	North Judson, IN	• horse arena 60' x 125' (7,500 sf)

Complete Project Listing Titan Construction & Engineering Services Page 16 of 22

RAMCO SUPPLY	Rochester, IN	<ul> <li>production/office facility 140'/175'x 300' and 24'x 70' (48,930 sf)</li> <li>west addition 140' x 100' (14,000 sf)</li> </ul>
REA MAGNET WIRE CO. INC.	Lafayette, IN	<ul> <li>production, warehouse, and Q.C. labs 242' x 565' and 80' x 122' (155,325 sf)</li> <li>production Cupola 35' x 80' (2,800 sf)</li> <li>corporate/administrative offices 11,534 sf addition and 2,800 sf renovation</li> <li>chemical drum storage building 50' x 90' (4,500 sf)</li> </ul>
<b>REMINGTON IGA</b>	Remington, IN	• grocery addition 63' x 36' (2,250 sf)
<b>REMINGTON SEEDS</b>	Francesville, IN	• Sheller bldg & Bulk storage steel erection scope (9,900 sf)
REMTRUST	Wolcott, IN	• Acell/Decell lane and underground utilities
RENSSELAER PLASTICS, INC.	Rensselaer, IN	<ul> <li>reroof production facility (23,000 sf)</li> <li>production expansion 100' x 280' (28,000 sf)</li> <li>warehouse addition 10' x 240' (2,400 sf)</li> <li>warehouse resheet 48'x200' (9,600 sf)</li> </ul>
RENSSELAER POLICE DEPT.	Rensselaer, IN	• facility remodel (10,045 sf)
RENSSELAER SEPTIC	Rensselaer, IN	• septic tank production addition 78' x 51' (3,978 sf)
RENSSELAER SERVICE CENTER	Rensselaer, IN	• trucking service center and garage 75' x 60' (4,500 sf)
RENSSELAER SWINE SERVICES	Rensselaer, IN	• office facility 66' x 26' and 44' x 24' (2,748 sf)
RENSSELAER VETERINARY CLINIC	Rensselaer, IN	• office remodel and addition 50' x 60' (3,000 sf)
RICO'S BAR & GRILL	Rensselaer, IN	• new 250 seat restaurant 68' x 105' (7,140 sf)
RITE-WAY CONCRETE SEAL SYSTEMS	Wolcott, IN	• warehouse and office 75' x 75' (5,625 sf)

Complete Project Listing Titan Construction & Engineering Services Page 17 of 22

ROCHESTER IRON & METAL	Rochester, IN	<ul> <li>scrap steel processing building 100' x 275' plus 50' x 79' (31,450 sf)</li> <li>Equipment sorting building 92' x 130' (11,960 sf)</li> </ul>
ROCKLAND FLOORING	Monon, IN	<ul> <li>warehouse addition 80' x 167' (13,360 sf)</li> <li>office addition / remodel 49,758 sf project total</li> <li>Production addition 70' x 160' (11,200 sf)</li> </ul>
ROSE ACRE FARMS	Monon, IN	<ul> <li>egg processing building - White County 250' x 150' (37,500 sf)</li> <li>USDA egg breaker plant - Pulaski County 80' x 100' plus (8,600 sf)</li> <li>USDA egg breaker plant - Guthrie Center, Iowa (engineering and building material) 126' x 169' (21,294 sf)</li> <li>inedible dryer facility - Pulaski County 100' x 120' (11,400 sf)</li> <li>inedible dryer facility - Guthrie Center, Iowa (engineering and building material) 126' x 80' plus (11,610 sf)</li> <li>egg breaker production remodel - Pulaski County</li> <li>Kraft Production addition (5,800 sf)</li> <li>Semi tanker refrigerated storage bldg 55' x 132' (7,260 sf)</li> <li>"Hoop" building concrete and steel erection 100' x 300' (30,000 sf)</li> <li>Donovan manure foundation 81' x 96' (7,776 sf)</li> <li>EGG grader addition 150' x 160' (24,000 sf)</li> <li>grader addition - Pulaski County (35,485 sf)</li> <li>White County cooler remodel</li> </ul>
ROWE TRUCK EQUIPMENT	Otterbein, IN	• building addition 60' x 140' (8,400 sf)
S & S PLASTICS	Kentland, IN	<ul> <li>production addition 150' x 70' (10,500 sf)</li> </ul>
SAM YOUNG, INC.	Wolcott, IN	• facility remodel into corporate offices (7,600 sf)
SCHILLI LEASING, INC.	Lafayette, IN	<ul> <li>heavy-crane warehouse facility with offices 212' x 428' (94,214 sf)</li> <li>crane extension</li> <li>warehouse canopy addition 60' x 200' (12,000 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 18 of 22

SCHMICKER'S READY MIX	Winamac, IN	<ul> <li>production facility 44' x 150' (6,600 sf)</li> <li>production facility 44' x 150' (6,600 sf)</li> </ul>
SCHUMACHER ELECTRIC	Rensselaer, IN	<ul> <li>wall insulation/skin of existing plant (26,000 sf)</li> <li>dock enclosure 27' x 86' (2,322 sf)</li> </ul>
SCHWARTZ CHYSLER DEALERSHIP	Bunker Hill, IN	• car dealership (34,947 sf)
SCOTT'S WILD BIRD SEED	Reynolds, IN	<ul> <li>warehouse addition 100' x 210' (21,000 sf)</li> <li>warehouse addition-north 100' x 210' (21,000 sf)</li> <li>east warehouse and docks 200' x 100' (20,000 sf)</li> <li>office renovation and addition 40' x 75' (3,000 sf)</li> <li>office addition/remodel 2,582 sf project total</li> <li>production addition 25' x 80' (2,000 sf)</li> <li>east warehouse addition 200' x 150' (30,000 sf)</li> </ul>
SEALY SPRING, INC.	Rensselaer, IN	• membrane roof (16,500 sf)
SILVA INTERNATIONAL	Momence, IL	• warehouse addition (concrete) 416' x 375" and 90' x 202' (174,180 sf)
SOLAE	Remington, IN	<ul> <li>dust Collector addition</li> <li>warehouse and process (concrete) 100' x 200' and 60' x 110' (26,600 sf)</li> </ul>
SMITH FARM STORES	Rensselaer, IN	<ul> <li>cold storage building 50' x 100' (5,000 sf)</li> </ul>
SMITH TRANSPORT, INC.	Remington, IN	<ul> <li>tilt-up warehouse facility (concrete and steel erection) 285' x 420' (119,700 sf)</li> <li>warehouse 700' x 350' (245,000 sf)</li> </ul>
STARKE CO. DEVELOPMENT FOUNDATION	Knox, IN Hamlet, IN	<ul> <li>manufacturing addition - Galbreath Inc., Knox 130' x 80' (10,400 sf)</li> <li>production and office facility – Norton Packaging, Hamlet 150' x 135' and 24' x 50' (21,450 sf)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 19 of 22

STARKE CO. DEVELOPMENT FOUNDATION (Cont'd)		<ul> <li>spec building - Knox 100' x 200' (20,000 sf)</li> <li>phase II warehouse and office addition - Norton Packaging, Hamlet 150' x 135' and 24' x 50' (21,450 sf)</li> </ul>
STEELCO	Valparaiso, IN	<ul> <li>warehouse addition 50' x 40' (2,000 sf)</li> </ul>
STEVE'S OH DOOR	Lafayette, IN	• storage building (7,392 sf)
T & L SHARPENING	Monticello, IN	<ul> <li>production addition 40' x 90' (3,600 sf)</li> </ul>
TALBERT MANUFACTURING	Rensselaer, IN	<ul> <li>production finishing addition 70' x 120' (8,400 sf)</li> <li>sandblast bay 24' x 65' (1,560 sf)</li> <li>rebuild fire-damaged paint building (3,360 sf)</li> <li>north production addition 60' x 200' (12,000 sf)</li> <li>east production expansion 60' x 93' (5,610 sf)</li> </ul>
THE LIFE CENTER	Winamac, IN	<ul> <li>multipurpose school/gym/church addition 80' x 100' (8,000 sf)</li> </ul>
TILLETT ENGINEERING	Rensselaer, IN	• remodel for office and shop facilities (13,765 sf)
TOPP INDUSTRIES, INC.	Rochester, IN	• production addition
		<ul> <li>348'x 303' plus 90'x 90' (113,500 sf)</li> <li>Production offices (2,565 sf)</li> <li>Office remodel (5,900 sf)</li> </ul>
UNITED PARCEL SERVICE	Lafayette, IN	<ul> <li>348'x 303' plus 90'x 90' (113,500 sf)</li> <li>Production offices (2,565 sf)</li> </ul>
UNITED PARCEL SERVICE USEFUL PRODUCTS INC.	Lafayette, IN Goodland, IN	<ul> <li>348'x 303' plus 90'x 90' (113,500 sf)</li> <li>Production offices (2,565 sf)</li> <li>Office remodel (5,900 sf)</li> <li>terminal addition and remodel existing offices</li> </ul>
		<ul> <li>348'x 303' plus 90'x 90' (113,500 sf)</li> <li>Production offices (2,565 sf)</li> <li>Office remodel (5,900 sf)</li> <li>terminal addition and remodel existing offices and terminal, 90' x 182' (16,380 sf)</li> <li>warehouse and connecting building</li> </ul>
USEFUL PRODUCTS INC.	Goodland, IN	<ul> <li>348'x 303' plus 90'x 90' (113,500 sf)</li> <li>Production offices (2,565 sf)</li> <li>Office remodel (5,900 sf)</li> <li>terminal addition and remodel existing offices and terminal, 90' x 182' (16,380 sf)</li> <li>warehouse and connecting building 200' x 150' (32,156 sf)</li> <li>concrete scope</li> </ul>

## WABASH NATIONAL L.P.

Lafayette, IN West Lafayette, IN

- structural remodel of 180,000 sf plant and addition of cranes
- steel sheeting and insulating of 696' long production wall
- lunchroom two-story addition 40' x 118' (4,720 sf)
- truss removal and new structure 50' x 110' (5,500 sf)
- plant II south production addition 66' x 152' (10,032 sf)
- plant I jig production addition 29' x 70' (2,030 sf)
- plant I west production addition 135' x 556' (75,060 sf)
- south plant (G.F.) structural modifications (120,000 sf), remodel (328,000 sf), and 40 acre stone/asphalt lot
- south plant finishing addition 38' x 225' (8,550 sf)
- Plant I finishing addition 66' x 184' (12,144 sf)
- decal/allrailer south production 240' x 103' (25,320 sf)
- decal facility 35' x 250' (8,750 sf)
- Duraplate production facility 100' x 400' (41,300 sf)
- Duraplate production addition 120' x 120' (14,400 sf)
- plant I reroof phase I 141' x 352' (49,632 sf)
- rail and flooring warehouse 125' x 225' (28,125 sf)
- wood framing production addition Harrison, AR (engineering and building material) 324' x 353' (106,682 sf)
- E-coat production addition Scott County, TN (engineering and building material) 292' x 376' and 120' x 171' (128,500 sf)
- breakroom and production offices, plant I 35' x 83' two-story (5,810 sf)
- Fruehauf trailer service and parts facility -Fontana, CA (engineering and building material) 150' x 326', 60' x 121' and canopies (60,700 sf)
- Purdue University jet hangar and offices 125' x 125' plus (16,590 sf)
- Plant I reroof Phase II 141' x 352' (49,632 sf)
- three (3) wood pre-driers Harrison, AR (engineering and building material) 120' x 260' each (94,320 sf total)
- south plant building #8 east addition 140' x 315' (44,100 sf)

WABASH NATIONAL L.P. (Cont'd)		<ul> <li>Fruehauf trailer service and parts facility - Phoenix, AZ (engineering and building material) 150' x 334', 60' x 121' and canopies (61,900 sf)</li> <li>Duraplate II east production addition 125' x 337' (42,125 sf)</li> <li>Finish line building addition 48' x 65' (3,120 sf)</li> <li>Training Room remodel (7,500 sf)</li> <li>finish line addition (3,250 sf)</li> <li>TDS production addition 80'x 200' (16,000 sf)</li> <li>Final Mile production addition 80'x 152' (12,160 sf)</li> </ul>
WALGREENS	DeMotte, IN	• site concrete sidewalks and curbs
WASTE NO ENERGY (RAKR FARMS)	Monticello, IN	• sitework for manure digester facility
WILSON INDUSTRIAL SALES	Brook, IN	• corporate office headquarters (13,967 sf)
WINAMAC COIL SPRING, INC.	Kewanna, IN	<ul> <li>manufacturing addition 80' x 50' (4,000 sf)</li> <li>production addition 80' x 175' (14,000 sf)</li> <li>production addition 100'/103' x 140' (14,427 sf)</li> <li>dock renovation and storage canopy 30' x 70' (2,100 sf)</li> <li>warehouse fire rebuild (15,500 sf)</li> <li>lunch room addition 24' x 40' (960 sf)</li> <li>production and warehouse addition 94' x 170' (15,455 sf)</li> <li>production addition 135' x 75' (10,125 sf)</li> <li>northwest production addition 135' x 124' (16,740 sf)</li> <li>fire rebuild</li> <li>production/warehouse building reroof 213' x 203' (43,239 sf)</li> </ul>
WINAMAC FIRE DEPARTMENT	Winamac, IN	• fire station addition (1,250 sf)
WINAMAC LUMBER and SUPPLY	Winamac, IN	• lumber yard and retail facility 120' x 330' (39,600 sf)
WINAMAC SPRING CO., INC.	Winamac, IN	<ul> <li>production facility with corporate offices 630' x 240' and 45' x 155' offices (170,270 sf total)</li> </ul>

Complete Project Listing Titan Construction & Engineering Services Page 22 of 22

WITKO, INC.	Wolcott, IN	<ul> <li>office, production, warehouse 120' x 200' plus (25,767 sf)</li> <li>production &amp; office addition 180'x 200' (36,000 sf)</li> </ul>
WONDERLAND TIRE COMPANY	Rensselaer, IN	• west building addition 40' x 44' (1,760 sf)
ZERO P.F.T., INC.	Monon, IN	<ul> <li>powder coat and offices</li> <li>95' x 200' and 2-story 16' x 77' (21,535 sf)</li> </ul>
ZION BETHEL BIBLE CHURCH	Monticello, IN	<ul> <li>multi-purpose facility, offices, and classrooms 80' x 110' and partial two-story (12,992 sf)</li> <li>second floor classrooms build-out 30' x 105' plus (3,836 sf)</li> <li>sanctuary foyer expansion (700 sf) project total</li> </ul>

Complete Project Listing (04-2022)